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Abbas Lagrour University - Khenchela

Faculty of Economic, Commercial and Management Sciences

1st Semester of the 2024/2025 university year

second year students (commerce & finance specialty)

An exam in statistics 3

Exercise 1:

A box contains 10 balls, 3 of the balls are red, 5 of the balls are white, and 2 of the
balls are blue. Three balls are selected, with replacement.

Required:

-find the probability that you select exactly one red ball.(first determine the type of
probability distribution).

-calculate the mean (Expected value) and the varinace of a distribution.
Exercise 2:

If the probability that an individual will suffer a bad reaction from injection of a given
serum is 0.001.

Reqﬁired:

_determine the probability that out of 2000 individuals: (first determine the type of
probability distribution)

a/3 exactly;
b/ more than 2 individuals will suffer a bad reaction.
Exercise 3:

The time required to build a computer is normally distributed with a mean of 50
minutes and a standard deviation of 10 minutes.

Required:

-what is the probability that a computer is assembled in a time between 45 and 60
minutes ?

Dr.beghenna.s
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